Montageanleitung Assembly instructions

.N Er@:télastics@

Sensor fiir Brucherkennung an e-ketten®
Breakage detection sensor for e-chains®




E4 /P4 *

IS.EC.B.S.Serie series *

IS.EC.B.00.22.21 XXX.YYY.ZZZ *

IS.EC.B.00.22.013.XXX.YYY *
E4.32: M5x20

E4.42: M6x20 Ix
E4.56: M8x20

P4: M10x20

DBCalc_IS.EC.B.00.22.001.0 1x

IS.EC.Uxx.yy.zz *

* siehe Bestellung
see order

C 1
R
) Loctite
0 401
~—




IS.EC.Uxx.yy.zz —

g b
\

E4.32: M5x20 DBCalc_S.EC.B. IS.EC.B.00.72.21.
E4.42: M6x20 00.Z2.001.0 XXXYYY.ZZZ
E4.56: M8x20

P4: M10x20



Nur fir Only for

E4

nicht fir horizontale
Fachbodden

% not for horizontal
shelves

IS.EC.B.04.01.0

IS.EC.B.04.01.0




auf Kettenende montieren
fit to moving end

Sensormontage
auf Mitnehmerseite
fit sensor

to moving end

Sensormontage
auf Festpunktseite
fit sensor

to fixed end







1
a
-

"Schlitz" immer im AuBenradius

platzieren.
"Slit" positioning always at the
outer radius.




Standard: jedes zweite Kettenglied
Sonderfall: siehe Bestellung

As standard, fit every other link
For exceptions, see order

Auf Einbaurichtung der Sonder-
trennstege achten!

Please pay attention to installation
direction of special separators!

8



Q

INYCEEDYESE) P

Fixed end




10



@ @ (o &

6Nm 10Nm 24 Nm 49 Nm

"










control




Inbetriebnahme & Offsetabgleich
Commissioning & offset calibration

Fiir Inbetriebnahme und Offsetabgleich bitte
i.Sense:modul Betriebshandbuch lesen.
Please read i.Sense:modul manual for
commissioning and offset calibration.

DEUTSCH

ENGLISH




igus® GmbH

Spicher Str. 1a

51147 Koln Cologne

Tel. Phone +49 2203 9649-0
Fax +49 2203 9649-222
info@igus.de

www.igus.de

www.igus.eu

© igus® GmbH

Herausgeber ist die igus® GmbH, Deutschland
Published by igus® GmbH, Germany
MAT0074834.25 Stand Issue 01/2022
Technische Anderungen vorbehalten

Subject to technical alterations





